
MPM2D Review Day 1 Name:

Evaluating Expressions and Solving Equations

1. Write each expression as a single power, then evaluate:

a) 53 x55 3 1 o  6 2- 3

c) 37 x9 + 34c: 3  . -5 —3

x 3 '-r'3 

2. Expand and simplify each of the following:

a) (l6x2-3x  + ll)+ (2+x2)
4C i G> ':>C -+■ "2X2 *7— '"7> "31.. —t- { \ -i: 1-

-33 ^  4- I 3

c) 3(x2 + x)- 4(x2 + 2x)

w 3'.̂ c - *3:121 cfe

b) 63x 62
4
fe­

ci) 32r x 3 3

4.

3 ^  3 °
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t 2  3  fe

' ?  2

/ \/7i v V
b) (4m-3m2)-(7m 2-m )

^  rru 21 -v *3"v-4 m. — 3 vx

fc>S'r -̂Z't- Xm _

3. Solve for the unknown variable: 

a) 5x -4  = 21
~~x~ 4 4" ̂ 4

fe cl 4  3  O’ 3 u | S  1

DC ~  -»

c) - + -  = 4 r - ^  (fituL tyty  b'i

 ̂° C 44 ) 3 5 <-> (" J. 4 3ot fe -x )
-7 y  -s /

3 ,1 )

i c

Z. o

1*5̂ . 3 G -z ^ " t °
( *3 -::t - I 2 c7 x. ~ — C u ~ U

— lo^.3t. '" t C  'fet? ^
4. Evaluate each expression where a = —2. 

a) 8 — 5a b)

b) 12-3y = 6 + 2y

4

S'
d) --x + 3 = 2(2x + l) m u  c V 'j  b4)

4 (  d ) -f -4 C 3 )

"X 3 ( 2. -  i fe-ar_ 4 £j

OX - t 6 X
- 7 uc 4

Ts~

-a2 + a + 2 c)
3a-2

a



5. Evaluate each expression where c = —4 and d = —3.

a) —2 cd

- __ '2_ *4

d) 2d2 -  3c + 5

z  <2 3 V -  3 ( - a V  *>

~ z* C cO  3 3  -2- -t "ST

i p  4 I z + S

b) 2c -  2d

^ 2 6 .4^ -
sr -  S

e) (c — 2)(8 + d)

-  f t  -  3)
C - 3  1 C *s~)

^  - 3  0

c) (c + 3d) 2

~ C~ 4  3  3  3"  ̂) z
S - 'i . . .

-  C- 4  -  4  )

•=. (1 
-  1 fcp

~3
6. Solve the following equations algebraically. Be sure to show all your work. Answers should 
be expressed as fractions in lowest terms, if necessary.

a) 6/? + 5 = 23 b) 5x + 14-3x =: 4x + 20
'S -s- j, | £-4; ~3 A  -X. "2 O

6 p -  tV
3 3 . - 3 Zc 2 . 0  - < 3

p~ *3 ,
£>

6

’2X — 3
p - ; .  3> 2--

"■X... ~zl —- 3

c) 5(2x - 1 ) - 7  = 3(1-2jc)+17
€) zx. — — '7 '73 "3 -i  ̂ i

1N x -3  x + 1d) -------=--------
2 4

+ 3 4 f1UtPip3’j

{ 0  tx: — 12- — 3 -XL + 2 0 V Z ' \ Z /

lo t  A z '  30 t » z.. a C x - ^  ~ — 1 -4- 1. <2—-

(Gx,-- 3 w azc - 3 -=c z • 3

■2 3  - x?c ' i 3  3- C,
"~X~ -—

■ x  3  1)’

e) Verify your solution to question 6b. Show your work below.

x  \ii ~ 3:*i 
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Evaluating Algebraic Expressions
1.

2.

Find the value of each expression if a = -2 and b = 3.
a) a + b b) a -2b  c )^a  — ̂ b

Simplify.
a)(2x-5) + (8x+13)

-- — S’ +13

2- — z c 
- — £
-  -s

X  C--2. ) 2 ■ Cs')

"2-»

b) (5a -  lab) + (6b + 4a) -  (9ab -3a  + 3b)
"Set. — 7 ^ 3  Xr M a_ — pptb  ~f 34!,— 3  t>

-  x° ^ +- s 6>q,b 4~ l z q _  + 3  L

c) -2(4x + 5y) + 4(8x -  ly)
Z' — g = c . —  lCry  4 - >  '2 ^C  — 2

: 24^ - 3

d) -7(x2 + 6x + 9) - 5(2x2 - 3x + 4)

— — "z— 6 '2> ■- | o. ixj3 4- ( *=3^

-  _  -2zf-=z — 2  3

Solving Equations
3. Solve.

a) 3y + 5 = 11
“3: -s'

— &

d) 6x + 8 = 4x- 10

C=>r>(z.— 4'Zx. — ~~ l o.~ %

— 2, ̂ er, —, -  I 3

g)f  = 4

■3C_-

b)4x-3 =-11
-f-3 3  3

XT- — S

e) 9p- 10 = 6 +p

^ p - p — 3 3 7  0 

S’p = | t

C>—1 ■*—-• «£—

3rh) — = -9

— -  3 >' 

zjC. z=r ■— i 3

j) 2-2- = 6

-"37 

— 3 3
X-

c: ~ 2, | 

H O M E W O R K : P g g e  4#  1, 2 , 3, 4

k) 3 = - x - 3  
1 2
-f- *3 —p 3

-x
y _ 3- 2C

341 2,

-3C- 4

c) 17 = 4c-3
-v ^3 3  3
b2-C3“ 33 <*̂4

-  jr

f) 2m + 6.1 = 16.5

2  rn,. =■ 1 6 3 -  6 - i 

•2-rvu— i ° - ^

m.- '2-

, m 1)6=_

vtX .— CO 6 4~)

-tr '2. Op

l ) - * - 3  = 5
4 -<-3 x 3

2 p  -  ?

'DC. —- 3  "2—
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METHOD 3: TABLE OF VALUES (v=mx +b)

X Y = SLae-:—1. POINTS
-1 = z e O - 1

-- -  3 -  I

r: — "3
0 ,-Z Co") -  | 

•rs o - *

1
- 2 ( O ' '

-- "2 '  1 

-  1

c a , ± )

Ex2. Graph y  = 3  -  1 using a table of values. (  a re -  fmOixpO

- 3

3  

3 1
3 3

o
3

o
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PRACTICE

Graphing
1. Graph each equation using a table of values

a) y = 3x -  1 b) y = -2x + 2 c) y = 14 x + 4

2 . Graph each equation using the slope and y-intercept. 
a) y = 2x + 3 b) y = !4x - 2

m,"= x. I
m . . . =  ^

c) x + y + 1 = 0 —̂
m -'

'3 --tXI — \

Ol -  X 

MrR UP 

6 ^  1»-
o  £ I L  I U 3 of 4
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3. Graph each equation by determining the intercepts. 
a)x + y = 4 b) 2x + y = 6

z t - t  /vt: - ^ ' °
-■-y~ ""ZZZ

4~ 'sc— i ' «5eA -vj =-c
c) 2x — 5y = 10

\DC--i A^:-
'tj — o

(cJ
5

4. Graph each equation using the most suitable method. 
a)y = 5x + 2 b ) 3 x - y  = 6

a t -  <5 y ”3 > " £
f Y L - - -  " 3

c)y = 3

— ;

f

->



MPM2D-Day III Review: Writing Equations and Standard Form

1. Determine the equation of the line with a slope of — and passes through the point (-3 ,7 ) .

rri )  -+-33
"2 3=22

2>

7-

%  a lr
2

1 l <4 +' "2;■7.. Y-
2. Determine the equation of the line that passes through the points 
a. (4,-1) and (7,8). b) (-3,-5) and (2 ,-3)

JL- 3  rn, -  —3  — 3 S  )(YL 77 3  -7 3  i 3*3  0

■2t 2 - 2  s 7 -

Z J — rri (- 22- ■2 , )  Z ' 1)  ,

3 -  3  C ' ^ z 27 >  3

7 1 3  3

,2 . “3 2 2  - i " 3

m

2

'2..

3  -  3  3")

C7X2- °*22 )  '+ ^  

£ 2  3  z )  -  3"

.2  4

2...

3
- S 2 2 ,

3
J31

3

3. Determine the equation of the following lines.

< 0
' 3

'2.

^ 3
) )  zi..'  "Y

k? ^



Rules for Standard Form

• Must be in the form Ax + By + C = 0 where A and B cannot both be zero.
• A must be a whole number (no leading negatives!)
• B, C must be integers.
• A, B, C must not have any factors common to all (can’t all be divided by the same 

number)

(Another way to write the equation of a line!)

Examples: Convert the following equations into standard form.

a. y  — —3x + 2

3  ̂  -t-y _ 7- o

b. y  = 2x + l

V cxr ~~~ Al  ̂ ^

C y  = - x - 5 4 ( T f n u M i p ^ d. —3y  = 2.5x + 1 (’ ry%uAApU/j oA

J

3 :^  -  > '5 2 5  ~  O -y>C_ "'V'  ̂ 'Hr ^  """ 43

y  — i  — C Lû  t? -4 f. y  = - 5x + -  ( bi j  3 }

(S'Tj — 3> ^>c~ |̂" 3 u — S

3 a :  ~  O 1 S  c^-t-3 vj — 2JL— 0

g. y  + 3x = — Sx + 7y — 1

y -y  a  ac -t- -  AKj a- i -  O

Q~ij -v i — O

h. —3 y = 6x + 18
-tr-̂  -4-3 t|

, ,  ̂__ r. c 9-&hj-<  ̂ -r b 
& 5C -+ 3 ̂  •+ 1  ̂- 0

•2cc.-4A + ^ -  °



Extra Practice: Write the equation for the following (in standard form where possible)

a. slope of 4 and passing through (0, 7) b. horizontal and passing through the point

y  ,,. /Ŝ x_ -ir rf  ^
(-5, 18)

-Vi Ajt
171 " °

- . -̂| --

„  .• < '4 |\je_. XIX uXfi °  ft- .

9
c. m  =  — and passing through (-1,4)

of -  m.. c :x^ ^  ‘ /
J

d. passing through the points (-3, 7) and (2,4)

in  ■= I x lL . . .   ̂ ^
~2 „ S

lA — fV| £ rX-" x  1  ̂ J
J~ %  C^c- ~+' 1)  4" ^

^  1  ^  n  1 .  X  %  ■— ,.x~‘— *— .J'1'*

—- — 5  / .r  - x 4  *4"— - - C_ -C_5

Oi ~r , ! 3..... I _|.....
t_ ~ .x . /  , / 1 _. -x 3-4—-v' ——f- fcx .—X- 4 - ...—- 4!L_. ~ _-

n  ' 5  55 S'
' X  x

e) 3 -  —'m  -  2--

f)  —f- 3

g)




